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Select the correct answer. (/1 poi / -
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m Which of the followmg shows cis/trans isomerism?
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. Whatxsthe formal charges atOmthe following structure?
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‘m Wluch of the follong pairs shows the same chemlcal bchavnour? .
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/ -~ m Which of the following gives only one aldchyde upon ozonolysis?

- ® Which formula oorrwponds N2
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- m Which by-product is formed in the free; radwal halogcnauon of ethanc? :
~ b) propane yane d) wobutane
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‘. thch carbocation is the most stablc? :
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m Which hydrocarbon has shortest C-C o-bond (single bond)?
3 HC—CHy 0«:&:«:—7 ©) HCmtH—CI=CH @ HL=CH—CH=CH, -
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The most stable chair confog/mation of cis-1-ethyl-2-methylcyclohexane: ' g
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w The structure of CsH,, which has only primary hydrogens: e . A%
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@ The dibromobenzene which gives only one ring-mononitration product: /’—?

m Give the structure of the hydrocarbon CsHio which gives only one
monochlorination product when chlorinated under uv irradiation.
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225 i The oon'ect TUPAC names for each of the following: -
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(I} Provide the structure of the mjéjor product (15 points) ‘
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®  H,C—C=C—CH, + Br,(1mole) —>

H,C
@ C==CH, + HBr —>
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7- The correct name for is:
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a-{ 22/ 4R)-4-methoxy-2-pentene ®D(2E, 4R)-4-methoxy-2-pentene
ﬁf:’ 25)-2-methoxy-3-pentene - d- (3E, 2R)—2-me‘l’hoxy-3,—pemene |
8-  Which of the following compouns is an opfically active compound
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9- Consider these halides ‘ '
‘ ?Hs.
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The order of reactivity of the abovq hmhdes with NaI/ Aqe'rone |s :
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10- Which of the followmg will react with sodlum hydroxide? : -

O‘OCH;; @—CHZOH <:>—'CHZSH .‘OH _

Q2 (6 pts) Answer each of the following . .

a- Complete the reaction




